Mark the diagram with the given information. 18. m«£D=30° m£0=90°. Find m«G.
Then, find the measure of the indicated angle. D

17. m£C=18° m4£T=94°. Find mzA.

C
180
X A
q4.°
oLl \g

Triangle Sum Theorem
18°+94°+x=180°

112°+x=180°

-112° -112° Xx=68° m£LA=68"°
19. mzA=138° mzN=17°. Find mzM. 20. m£0=47°, m£G=43°. Find mzH.

A 0
M i z
H
N
21. mz1=48°. Find m«T.
G

22. Find mz0, m«T, and mzP.

|
S T
0]
T
23. mzH=13° mzI1=24°. Find mzM.
H P
24. mzE=118°, mzR=26°. Find mzH.
H
1
M
A
R

Bubble all the correct answers from above. Don't bubble incorrect answers.
068> O1122Q 66° O13220143°Q37° O36° O20° O60° O90° O60° O30° O25° O120°
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Solve for x. Triangle Sum Theorem| 2% H
25. X+2X+(X-16°)=180°
M K+2X+X -1 6°=180°
* 4x-16°=180°
+16° +16° T
4x=196°
A 12X *, 4 4 I
6o
x=49°
T

29. T

Bubble all the correct answers from above. Don't bubble incorrect answers.
O165° QO25° Q6 Q277 Q290 Q55 Os56c 039 O33 Q4
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Mark the diagram with the given information.
Then, find the measure of the indicated angle.

31. mzA=X, mzB=2X. mzC=2X+30°. Find m«B.
B

33. msY=x+5°, ms£Z=x-7°. Find mzZ.

X
] Y

32. ms£S=2x, m£A=X-23. m«£D=X-17°.

Find m«S.
A

o

34. Find m«R, m4£Q, and m«S.

R

35. mzZW=x-22°, mzX=3x+19°, mz£Y=x-17°. Find mzX.

w

Y

Bubble all the correct answers from above. Don't bubble incorrect answers.

O39° Oe60°c (Q139° Qe0° O110°
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